chel ME B, %
~o e 16 3 (Eg) SLUE(HE) 16 3 (FA) SLE(FA) | FEIHEY) | FESIHEA) | HIHESEHE)
=94 = =94 e =N = =94 a2 | 154 | ed [ 154 [ 1ed | EHE A
A 1,189,578 244 425 -4.1 3.9 3,129,505 634,451 -6.0 1.3| 5.28 4.87 5.32 493 | -7.7| -7.2
1 |HEY 217,693 26,813 5.9 3.2 552,913 66,361 1.1 2.5 7.91 8.12 8.44 8.33 26| -1.3
2 |& 183,367 28,097) -1.6 12.2 473,366 72,777 -3.7 7.6 7.44 6.53 7.27 6.50 | -12.3| -10.5
3 o= 115,523 27,742} -10.7| -4.5 307,904 71,480 -8.5| -0.1 4.45 4.16 4.70 4.31 -6.5| -8.4
4 [z UAlot 93,103 13,925) -11.3 4.1 263,672 37,637 -9.1 2.5 7.84 6.69 7.90 7.01 | -14.8| -11.4
5 [¢d& 72,418 9,200 3.4 7.9 197,956 27,166 2.8 6.0 8.21 7.87 7.52 729 -4A1 -3.1
6 |22 43,646 5,678 -19.7 | -6.9 109,055 13,680 | -13.8| -0.2| 9.07 7.82 9.23 7.97 | -13.7| -13.7
7 |otEtofo|2[E oAt 28,051 4534 -246| -20.5 72,209 11,230 | -28.9| -23.1 6.53 6.19 6.95 6.43| -52| -7.4
8 |E7| 25,358 6,532] -0.8 1.9 66,871 18,125 -2.1 47| 3.99 3.88 3.94 3.69| -26| -6.5
9 |Hez/H 21,183 6,393] —22.1 20.8 63,631 16,531 | -11.3 21.0 5.14 3.31 5.25 3.85| -35.6 | —26.7
10 [= 18,858 7,603 9.5 38.4 48,575 18,454 -4.8 3.3| 3.13 2.48 2.86 263 | -209| -7.9
11 |ZEC|ot 18,617 5,374 -23.5| -20.3 53,348 14,717 | -16.7| -7.9| 3.61 3.46 4.01 3.62| -4.0| -9.6
12 |O|Etz|oft 17,967 6,465 1.9 2.4 47,199 17,526 -1.8 8.7 2.79 2.78 2.98 269 -05| -9.7
IEREEEE R 16,914 2,685] -16.2 -7.4 45,488 7,561 -5.0| -1.6 6.96 6.30 6.23 6.02| -9.4| -35
14 |Ef= 15,531 4,014 -8.3 -3.9 47,077 11,021 -3.6| -3.8| 4.06 3.87 4.26 427 -4.6 0.2
15 |[AbClot2d|of 14,432 2,271 -23.3| -16.1 39,793 6,012 | -19.2| -11.6| 6.95 6.35 7.24 6.62| -86| -8.6
16 |ZZA 13,948 2,350 -3.6 11.5 34,442 5,600 -7.71 -79| 6.86 5.94 6.14 6.15| -13.5 0.2
17 |CHEt 13,332 3,130} -8.5 10.2 35,262 7,378 -4.0 1.3 5.13 4.26 5.04 478 -17.0| -5.2
18 [el=(2lC|o}) 13,031 6,450 5.4 25.3 33,664 16,559 -1.9| 211 2.40 2.02 2.51 2.03| -15.8| -19.0
19 |HA|= 11,602 2,603 -9.8| -10.3 30,075 7,470 | -13.0| -1.4| 4.45 4.47 4.56 4.03 0.6 —-11.7
20 (€= 11,505 3,928] -9.4 11.1 33,060 10,134 -8.7| -4.5| 3.59 2.93 3.41 3.26| -18.5| -4.3
21 |22l 11,287 3,297] -4.2 -2.7 34,564 10,827 17.6| 29.4| 3.48 3.42 3.51 319 -1.5| -9.1
22 |2{Alo} 9,944 2,751 4.5 -4.3 24,823 6,623 | -14.7| -21.6 3.31 3.62 3.45 3.75 9.3 8.7
23 |TbH| 2zt 9,444 1,594 -6.9 7.2 20,222 3,442 | -11.2 11.2 6.82 5.92 7.35 5.87 | -13.1 | -20.1
24 |4 72t} 8,985 1,175 78.5 85.6 16,351 2,157 19.5 41.6 7.95 7.65 8.98 7.58| -3.8| -15.6
25 |Zrello| Aot 8,843 3,607] -19.3| -33.7 21,609 8,484 | -31.2| -43.5| 2.01 2.45 2.09 255| 21.8| 21.6




ool ME B, %

2o e 16 3E(EE) SHE(EE) 16 3 (FA) SHs(FA) | e EE) | FAEIHEA) | EPHESHE)
“ — =4 s =24 | % =4 s = | = | 159 | 1e6d | 159 [ 16d | EHE | A
A 1,220,909 157,290 12.0 12.4 3,416,535 424,728 -0.2 6.0| 7.79 7.76 8.55 8.04| -0.3| -5.9

1 |53 496,782 79,3411 15.5 21.3 1,416,769 209,095 -3.7 6.3 6.57 6.26 7.47 6.78| -4.8| -9.3
2 [HEY 256,057 25,007 34.4 35.0 734,842 67,752 12.2| 23.5| 10.28| 10.24| 11.94| 10.85| -0.4| -9.2
3 |IEUH Ao} 72,068 9,706 -3.9| -12.5 192,497 27,514 -1.3 1.9 6.77 7.42 7.23 7.00 9.7 -3.2
4 |o|Er2|of 48,017 687] -2.2 20.1 135,542 1,950 -3.8 16.6 | 85.78 | 69.86 | 84.30| 69.50 | -18.6 | -17.6
5 |¢& 41,991 6,907] 21.3 16.7 108,959 18,207 16.9 16.8 5.85 6.08 5.98 5.98 4.0 0.1
6 |[olokot 33,624 1,295] -7.8| —-11.8 90,732 3,540 -9.9| -5.3| 24.83| 25.97| 26.96 | 25.63 46| -4.9
7 |el=(elC|ot) 33,480 8,180 -17.5| -21.6 94,535 24,546 | -109| -7.7 3.89 4.09 3.99 3.85 52| -35
8 |[ol= 27,703 2,839 -5.8 16.1 76,161 7,849 -8.3| -0.9| 12.03 9.76 | 10.49 9.70| -18.9| -7.5
CHEEEER 24,746 1,631] 24.6 17.2 68,431 4,446 8.2 142 14.27 | 1517 | 16.26 | 15.39 6.3| -5.3
10 [Ef= 23,212 5,700 2.4 11.7 58,384 14,492 -2.6 5.2 4.44 4.07 4.35 403| -8.4| -7.4
11 |ZZA 22,964 3371 -0.9| 164.4 58,006 635 -3.3 70.6 [181.65| 68.10 [161.06 | 91.29 | -62.5| -43.3
12 |ZEC|ot 15,890 589] 31.8 27.4 39,225 1,440 4.9 7.2| 26.07| 26.97 | 27.85| 27.25 35| -2.2
13 |Ea2|E 14,241 769 38.3 28.2 35,452 1,983 21.7 6.9 17.16 | 18.51| 15.70| 17.88 7.9 13.9
14 | Zef|o|Alo} 9,407 4,834 -20.3| -11.5 26,646 13,091 | -19.0| -10.3 2.16 1.95 2.25 2.04| -99| -9.7
15 |5¢ 9,311 921] 20.3 51.2 21,765 2,025 6.6 26.6| 12.71| 10.11 | 12.76 | 10.75| —-20.5| -15.8
16 |oF|AE 9,158 2,364 -14.3| -12.8 27,856 6,757 | -15.0| -13.5 3.95 3.87 4.19 412 -1.8| -1.7
17 |E7| 9,098 283 8.4 -41.3 24,074 837 11.3]| -12.4| 17.44| 3219 | 22.63| 28.75| 84.6| 27.1
18 |cigt 8,101 1,697] -14.3| -19.8 25,363 5,779 | -15.4| -6.8 4.47 4.77 4.84 4.39 6.7 -9.3
19 |A2|27t 6,209 216] 21.7| -43.2 16,466 785 24.4| -23.0| 13.43| 28.77| 12.98| 20.98 | 114.2| 61.7
20 |[H= 5,988 300 7.5 41.8 15,552 991 1.3 10.1 | 26.37 | 19.99| 17.05| 15.69 | -24.2| -8.0
21 |28 5,423 84 4.8 -3.7 15,378 213 17.6| -6.6| 59.07| 64.24 | 57.28 | 72.09 8.8 25.9
22 |2mel 5,280 150 0.1 51.6 14,810 336 0.0 455 | 53.37 | 35.22 | 64.19| 4414 | -34.0| -31.2
23 |F0of4 ot 4,190 25 6.3 -17.5 12,610 69 -4.6| -24.3(132.71 [170.88 |144.10 |181.60| 28.8| 26.0
24 |2AEEZ|ot 3,690 1,315] -37.0| -33.8 11,643 4130 ]| -18.8| -17.9 2.95 2.81 2.85 2.82| -49| -141
25 |22=3 3,037 551 49.3 54.6 6,705 125 24.7| 41.7| 57.34| 55.37| 60.95| 53.65| -3.4| —12.0




